Revision 2

TECHNICAL INFORMATION SHEET

PART NUMBERS: 1307 / 1369 / 1370 / 1371 / 1417

1370

w: |
1371 1417
Example of a cooling system from a BMW engine 525 tds. (PN.1417)

. Radiator
. Louver

. Pneumatic valvle from louver
. Depression pipe

. Cover engine

. Viscous coupling

. Fan

. Water pump pulley

. Water pump

10. O’ring

11. Thermostat

12. Thermostat housibg

13 .Expansion Jar

14. Tubing to heater
15. Tubing from heater

O©COoONOARWN -

1. Water pump fixing boltsTornillos
2. Thermostat housing fixing bolts

Water pump extraction, M6 bolts

1. Damper
2. Power steering Torque
3. Roller guide |
Part number Engine Location Fixing (daN.m)
4. Alter_nator 1370 4 cilynders | to case Bolt M8 2-24
5. Belt idler Bolt M6 0,8 -1
6. Water pump Pulley to water pump 0,8-1
6 cilynders | to block! | M8 2-24
Bolt | M6 0,8-1
Pulley to water pump 0,8 -1
1417 Bolt | M6 1
| ™8 2,2

Please check the AIRTEX Water Pump Catalog for more information.
This information Has been obtained from Guia de Tasaciones and Revista Técnica del automévil.



